
Math 110, 112 Practice Quiz # 7 – Sections 4.1- 4.3
Linear Equations in 2 Variables, Slope

1. Determine the intercepts algebraically.
a. 3x + 5y = 30


c. y – 5 = 0

b. 
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d. x = -2

2. Determine whether the graph is horizontal, vertical or neither.
a. 7x – 5 = 10



 c. -4y = y + 3

b. x – 3y = 5


3. A nurse sees 12 patients per day. Let x represent the number of patients seen before lunch and y represent the number of patients seen after lunch.
a. Write and equation representing this situation.



b. Find the intercepts of this equation.




c. How can the intercepts be interpreted for this problem? 
4. Determine the slope of the line through the points: (4, -3) and  ( -2, 5).

5. Write the equation in slope-intercept form. Then determine the slope of the line: 
              5x – 3y = 10.


6. Write the equation that contains the given point and given slope. Then sketch the graph.


a.  ( 0, 3 ); m = 
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b. ( -2, 5 ), m = 0



c.  ( 4, -1 ), slope is undefined 

a.




b.
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Math 110, 112 Practice Quiz # 7 – Sections 4.1- 4.3 (cont.)
7. Determine the slope of the line shown on the graph below.
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8. Either two points of a line, one point of one line and the equation of a another line or two equations of lines are given. Determine if the lines are parallel, perpendicular or neither using the given information.
a. L1: ( 2,5 ), ( -3, 8 );
L2: ( -1, 1 ), ( -6, 4 )


b. L1: 10x – 5y = 2;
L2: 4y = -2x + 3


c. L1: ( 3, 4 ), ( 2, -3 );
L2: 3x – y = 8



9. Given the following information, determine the rate of change of y with respect to x.
a. y = 
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b. through points ( 2, 5 ) and ( 4, -2 )


10. The cost of a meal varies directly with the price of each item ordered. If the cost is $20 for 5 items, what is the cost for 3 items?
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